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[ToJsiocel B cieKkTpe \ YpaBHeHUdd

HoHbl, HMMeElie OCHOBHO€E COCTOAHHKE «T»

V1, V2, V3 Dq = (Vz - V1)/10
B=(v2+v3-3v1)/15

Vi, V2 Dq=(V2—V1)/10
B =vi(v2-2v1)/(12v2 - 27v1 )

V1, V3 Dq = [(5\)32 - (V3 - 2V1)2)1/2 - 2(V3 - 2V1)]/40
B=(v3-2v1+10Dq)/15

V2, V3 Dq = [(85 v32 - 4(v3 - 2v2)3) /2 - 9(v3 - 2v2 )] /340

B =(v3 - 2v2 + 30Dq)/15

HMoHbl, UMelo1He OCHOBHOE COCTOSIHUE «A»

V1, V2, V3 Dq=v1/10
B =(vz2+v3-3v1)/15
V1, V2 Dq=v1/10
B = (v2 - 2vi1) (v2-Vv1)/(15v2 - 27v1)
V1, V3 Dq =v1/10
B = (v3-2v1) (v3-vi1)/(15vs - 27v1)
V2, V3 Dq = [(9\)2 + V3) - (85(\)2 - V3)2 - 4(\)2 + V3)2)1/2]/340

B =(v2+v3-30Dq)/15




